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w 1pER |SE| 1,952 2,173 4,125 331 269 600] 16.96 | 12.38 | 14.55 1,621 1,904 3,525
R GOIE]
w opER |9 E| 3,372) 3,472 6,844 494 406 900] 14.65 11. 69 13.15 2,878 3,066| 5,944
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w 3pEx | E| 2,884 2,937 5,821 478 422 900| 16.57 | 14.37 | 15.46 2,406| 2,515 4,921
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w apER |5 E| 3,249) 3,489 6,738 543 457 1,000 16.71 13.10 | 14.84 2,706/ 3,032 5,738
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w spER (9B 2,713] 2,960 5,673 520 480 1,0001 19.17 16. 22 17. 63 2,193 2,480| 4,6673
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= op=ER |9 E| 2,767) 3,083 5,850 425 375 800] 15.36 12.16 13. 68 2,342 2,708| 5,050
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# 7pEx |9 E 1,897 2,289 4,186 358 342 700] 18.87 14.94 | 16.72 1,539 1,947 3,486
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w1op=x |5 E| 1,490 1,603 3,093 270 230 500] 18.12 | 14.35 | 16.17 1,220 1,373] 2,593
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w1op=ERx |5 E| 2,268 2,554 4,822 366 334 700 16.14 | 13.08 | 14.52 1,902 2,220 4,122
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w1 3pER |9 E| 2213 2,500 4,713 356 344 7001 16.09 13.76 14. 85 1,857 2,156 4,013
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